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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Ql.

Q3.

Q4.

Q5.

Q6.

“ard A anyfas FEE h FaifeE TEE YAy Hete A g watat
waenstt &1 dfaure 2 |7 gama are faftdl 6 e @ @ s A fGae
&Hifo | (150 wea] # I )

“The most significant achievement of modern law in India is the
constitutionalization of environmental problems by the Supreme Court.”

Discuss this statement with the help of relevant case laws.
(Answer in 150 words)

“ara % ol &3 Fam F o fawr e w1 sifter @ w9 @ aft s
mﬂﬁﬁw‘é,ﬁmj%mmw‘é 1 feoqoft Sifsma |

(150 wregi # 3w i)

“Right of movement and residence throughout the territory of India are freely
available to the Indian citizens, but these rights are not absolute.” Comment.
(Answer in 150 words)

gl T H, 9id | wft % Ao 4 sfefl-wm W sme-afgw w5 e di
e afafda fomar 2 2 (150 sr=di § 3 difsm)

To what extent, in your opinion, has the decentralisation of power in India
changed the governance landscape at the grassroots ? (Answer in 150 words)

TS |HT & AWTATd & &9 § HTG & 39-Ugafa 1 yfires i fademn Hifs |

(150 1&gt § IwR EifSrw)
Discuss the role of the Vice-President of India as the Chairman of the
Rajya Sabha. (Answer in 150 words)

U fuser ot emam & wifafues fFem @ gdufies Fem § svaw it o= § w@a
B 39! yifiremt 1 fordmmn difse | (150 wsgi & 3w @)
Discuss the role of the National Commission for Backward Classes in the wake

of its transformation from a statutory body to a constitutional body.
(Answer in 150 words)

Tfq-sifes TISHT 6 GIISRdT & &I I Ied FE F o TR ot fsht 8 & ae
e FH i ArawEwal ® | e i | (150 v 7 s df)

The Gati-Shakti Yojana needs meticulous coordination between the
government and the private sector to achieve the goal of connectivity. Discuss.
(Answer in 150 words)
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Q7. femmar % wed § wwdl et it Amfet 6t T FacAEfiaa % fa
feeammem sifuer sifufrm, 2016 Faw fafus a@w s9a ® smar 8 | feoadft
#ifse | (150 &gt § IR difw)

The Rights of Persons with Disabilities Act, 2016 remains only a legal
document without intense sensitisation of government functionaries and
citizens regarding disability. Comment. (Answer in 150 words) 10

Q8. THEH TN (AUl ASHT & WIEAW § HLHH] Yo SHawdl ¥ UR Uk Wfaiia Hed 2,
fopq guehl aroft dfmnd oft & | feooft Hifse | (150 wregf & I ifom)
Reforming the government delivery system through the Direct Benefit
Transfer Scheme is a progressive step, but it has its limitations too. Comment.
(Answer in 150 words) 10

Q9. “9ra sfieisht w1 wEl guAn firm B 1 qdadi FU & Al H i % qdHE dhe H
R <t it it faa=mn hifse | (150 wregi § IT )
‘India is an age-old friend of Sri Lanka.” Discuss India’s role in the recent crisis
in Sri Lanka in the light of the preceding statement. (Answer in 150 words) 10

Q10. 9% fowm # wn fawed® (BIMSTEC) @1 (SAARC) i1 T Th GHMIGL HTS
2 239 gFI & o 991 THEA 3 EHAFAE § ? 39 U e & 9 I 8
et fagw Hifa % twa F8 w7 & ? (150 weai H I Efw)
Do you think that BIMSTEC is a parallel organisation like the SAARC ? What
are the similarities and dissimilarities between the two ? How are Indian
foreign policy objectives realized by forming this new organisation ?
(Answer in 150 words) 10

Q11. @i sfafafuca srfuffem, 1951 % e wag sroan o= faunfRem & weei & @
g 3 fomrdl & faofy € ufsen &1 fagea Hifse | /7 ol w fomft Faifaa
Hifya geameft = fafem #t = 9ifva e 1 war 2 2 39 Fol & faeg difea o
1 ST ITER Uy 2 ? are faftr &1 gy difse | (250 wegi # 3w i)
Discuss the procedures to decide the disputes arising out of the election of a
Member of the Parliament or State Legislature under The Representation of
the People Act, 1951. What are the grounds on which the election of any
returned candidate may be declared void ? What remedy is available to the
aggrieved party against the decision ? Refer to the case laws.

+ (Answer in 250 words) 15
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Q12.

Q13.

Q14.

Q15.

Q16.

Q17.

TsgTe g faarht vt & sam f sravas @l @1 fGeea e | e &
qug W fom TSI g reAreil % qA W i duar 1 fad=an i |
(250 wregi ® 3w AfS)

Discuss the essential conditions for exercise of the legislative powers by the

Governor. Discuss the legality of re-promulgation of ordinances by the
Governor without placing them before the Legislature. (Answer in 250 words)

“arg o TP TeAfae oW FEERw & Uy # €, Jeafe & T TSy-wnEEd $
gy # |” feoqoft hifs | (250 wrsal # 3w Eifdn)

“While the national political parties in India favour centralisation, the regional
parties are in favour of State autonomy.” Comment. (Answer in 250 words)

W 39k i 3 e % Pt 8 ) S B e She B |
(250 wsgi ® 3o i)

Critically examine the procedures through which the Presidents of India and
France are elected. (Answer in 250 words)

ey AER-AfEd % IgHT & I §, WRA & Fateq En 6t yfies & fad=m
Hifdr | (250 wrea # 3 i)

Discuss the role of the Election Commission of India in the light of the
evolution of the Model Code of Conduct. (Answer in 250 words)

FHAHRT A & ifafns Wi it @ure & dfua @ ik 7iel H g1 # fou
Herehifa 3 ST & $9e TauA 61 AavTehar 2 | == hifr |
(250 wregi ® I difo)

Besides the welfare schemes, India needs deft management of inflation and
unemployment to serve the poor and the underprivileged sections of the
society. Discuss. (Answer in 250 words)

T A9 38 W § Hewd 2 o g 3q gran sifiresoon w sedt sk fassma whean
T AreTias HrficRt % wEt I gerdt B 2 319 I & sifue 1 fag fif |
(250 wrsai # IeR difw)

Do you agree with the view that increasing dependence on donor agencies for
development reduces the importance of community participation in the
development process ? Justify your answer. (Answer in 250 words)
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Q18. Theft foien & wewar & R # SEEwar 3cqd e famn, s=at <t foren & Som-enunfa

Q19.

Q20.

ygfd & gt # fyes o stfard sma foen o sifver afufam, 2009 st

2 | e hifore | (250 wreat § 3 i)

The Right of Children to Free and Compulsory Education Act, 2009 remains

inadequate in promoting incentive-based system for children’s education

without generating awareness about the importance of schooling. Analyse.
(Answer in 250 words)

12U2 (97, 390Fd, 63w e oHia R §gw Us9 omfeh) aygd dfvas
Torifa o Wi it feafe @1 fre yer wwiafa s 2 (250 wedl # I df)

How will I12U2 (India, Israel, UAE and USA) grouping transform India’s
position in global politics ? (Answer in 250 words)

oo Fol AN Hl FE@ g || JusHid & e #, faftm ol wai d
Sierary gitada i fewn # wia i agadt Hifa &1 dféea auia Hifs |

| (250 &2 # Iew Afer)
‘Clean energy is the order of the day.” Describe briefly India’s changing policy

towards climate change in various international fora in the context of
geopolitics. (Answer in 250 words)
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